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दिशा-नििेश (1 – 5) : निम्ि जािकारी का 
ध्यािपूर्वक अध्ययि करें और िीचे दिए गए प्रश्िों 
के उत्तर िें| 
बारह लोग िो समािाांतर पांक्ततयों में इस तरह स े
बैठे हैं कक प्रत्येक िो व्यक्ततयों के बीच एक समाि 
िरूी है| कक र्हााँ में छह लोग एक-युतत पांक्ततयों में 
बैठे हैं। पांक्तत 1 में A, B, C, D, E और F बैठे हैं 
और र्े सभी िक्षिण की ओर महु करके बैठे हैं| पांक्तत 
2 में P, Q, R, S, T और V बैठे हैं और र्े सभी 
उत्तर की ओर मुह करके बैठे हैं| इस प्रकार की बैठि े
की व्यर्स्था में, ककसी एक पांक्तत का प्रत्येक सिस्य 
िसूरी पांक्तत के एक अन्य सिस्य के सामिे बैठा 
हुआ है। V, S के िाएां स ेतीसरे स्थाि पर बैठा है| 
S, F के सामिे बैठा है और F ककसी भी पांक्तत के 
छोर पर िहीां बैठा है| D, C के िाएां स ेतीसरे स्थाि 
पर बैठा है| R, E के सामिे बैठा है| E के सामिे 
बैठा व्यक्तत P के िाएां स ेतीसरे स्थाि पर बैठा है| 
B और P पांक्तत के चरम छोर पर िहीां बैठे हैं| T, 
S का पडोसी िहीां है और F, D का पडोसी िहीां है| 
 
1. निम्ि में से कौि D के सामिे बैठा है? 
A. T   B. P 
C. Q   D. R 
E. इिमे से कोई िहीां 
 
2. निम्ि में स ेकौि पांक्तत के चरम छोर पर बैठे 
हुए हैं? 
A. R, F  B. T, A 
C. D, R  D. C, Q 
E. S, A 
 
3. निम्ि पाांच में स ेचार एक निक्श्चत व्यर्स्था में 
बैठे हुए हैं, और इसललए एक समूह के रूप में हैं| 
निम्ि में से कौि एक इस समहू का सिस्य िहीां है? 
A. B, T   B. A, Q 
C. C, S  D. F, P 
E. E, Q 
 

4. निम्ि पाांच में से चार एक निक्श्चत व्यर्स्था में 
बैठे हुए हैं, और इसललए एक समूह के रूप में हैं| 
निम्ि में से कौि एक इस समहू का सिस्य िहीां है? 
A. D   B. S 
C. V   D. T 
E. A 
 
5. R और T के बीच ककतिे लोग बैठे हुए हैं? 
A. एक   B. िो 
C. तीि   D. चार 
E. कोई िहीां 
 
नििेश (6 – 8) : निम्िललखित सूचिा को ध्यािपूर्वक 
पदिए और निम्ि प्रश्ि का उत्तर िीक्जए| 
श्री और श्रीमती राणा के िो बच्चे (एक बेटा और एक 
बेटी) अिुष्का और शौयव हैं। शौयव िे श्रीमती तोमर 
की बेटी रजिी स ेशािी की है। श्री तोमर के बटेे 
निनति िे ररतु से शािी की है। राम और श्याम 
निनति और ररतु के पुत्र हैं। रीमा और वर्द्या शौयव 
और रजिी की बेदटयााँ हैं। 
 
6. वर्द्या का अिुष्का से तया सांबांध है? 
A. बहि   B. भतीजी 
C. चाची   D. बेटी 
E. इिमे स ेकोई िहीां 
 
7. राम श्री तोमर स ेकैसे सांबांधधत है? 
A. िामाि  B. सहोिर 
C. पोता 
D. निधावररत िहीां ककया जा सकता है 
E. इिमे स ेकोई िहीां 
 
8. अिुष्का रजिी से कैसे सांबांधधत है? 
A. सास   B. चाची 
C. िन्ि   D. भतीजी 
E. इिमे स ेकोई िहीां 
 
नििेश (9 – 10) : निम्िललखित जािकारी को ध्याि 
से पदिए और दिए गए प्रश्िों के उत्तर िीक्जए| 
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यदि ‘ ’ का अथव ‘  का पुत्र है’। 
यदि ‘ ’ का अथव ‘  की पुत्री है’। 
यदि ‘ ’ का अथव ‘  का भाई है’। 
यदि ‘ ’ का अथव ‘  की पत्िी है’।  
9. यदि ‘ ’ है तो C का F स ेतया 
सांबांध है? 
A. पुत्र-बधु  B. ससुर 
C. ग्रैंडडॉटर  D. ग्रैंडसि 
E. माता 
 
10. निम्ि में स ेककसका अथव है ‘P,K का वपता है’? 
A.  B.  
C.  D.  
E. इिमें से कोई िहीां 
 
नििेश (11 – 15) : िीचे िी गई जािकारी का 
ध् यािपूर्वक अध् ययि करें और इि पर आधाररत प्रश् िों 
के उत् तर िें। 
आठ व् यक्तत M, N, O, P, Q, R, S और T एक 
र्गावकार मेंज के चारों ओर बैठे हैं। र्े इस प्रकार बैठे 
हैं कक इिमें से चार व् यक्तत र्गावकार मेज के चार 
ककिारों पर और चार व् यक्तत र्गावकार मेज की चार 
भुजाओां में से प्रत् येक भुजा के मध् य में बैठे हैं। जो 
व् यक्तत चार ककिारों पर बैठे हैं, उिका मुि कें द्र की 
ओर है। जब कक जो व् यक्तत भुजाओां के मध् य में बैठे 
हैं उिके मुि बाहर की ओर हैं। उिका जन् म समाि 
र्र्व के जिर्री स ेअगस् त तक के महीिों में हुआ है, 
लेककि जरूरी िहीां है कक इसी क्रम में हो। 
Q का जन् म उस महिे में हुआ है क्जसमें 30 दिि 
होत ेहैं और उसका मुि कें द्र की ओर है। जो व् यक्तत 
Q के िादहिे तीसरा बैठा है, र्ह Q स ेिो महीिे बडा 
है। T से बडे व् यक्ततयों की सांख् या, P स े छोटे 
व् यक्ततयों की सांख् या के बराबर है। केर्ल एक व् यक्तत, 
N से बडा है। क्जस व् यक्तत का जन् म जूि महीिे में 
हुआ है र्ह फरर्री महीिे में पैिा होिे र्ाले व् यक्तत 
की िाईं ओर िसूरे स् थाि पर बैठा है। S, N की बाईं 
ओर स े िसूरे स् थाि पर बैठा है। R सबसे छोटा 
व् यक्तत है और T का पडोसी है। P, Q से एक महीिे 

बडा है। O, R की बाईं ओर स ेतीसरे स् थाि पर बैठा 
है। P का मुि बाहर की ओर है। क्जस व् यक्तत का 
जन् म जिर्री में हुआ है र्ह O की बाईं ओर स े
िसूरे स् थाि पर बैठा है। S, O से बडा है। 
 
11. निम् ि में से कौि सबसे बडा व् यक्तत है? 
A. M   B. N 
C. P   D. Q 
E. T 
 
12. निम् ि में से कौि R की बाईं ओर से िसूरे 
स् थाि पर बैठा है? 
A. O   B. S 
C. Q   D. P 
E. T 
 
13. निम् ि में से कौि सा सांयोजि सही है? 
A. P-माचव  B. T-मई 
C. O-जुलाई  D. M-फरर्री 
E. S-जुलाई 
 
14. निम् ि में से कौि सा व् यक्तत समूह से सांबांधधत 
िहीां है? 
A. N   B. S 
C. R   D. Q 
E. O 
 
15. 7. निम् ि में से कौि P से बडा िहीां है? 
A. T   B. O 
C. S   D. M 
E. N 
 
नििेश (16 – 20) : निम् िललखित जािकारी को पिे 
और दिये गये प्रश् िों के उत् तर िें। 
आठ सिस् यों के एक पररर्ार में तीि वर्र्ादहत जोडे 
हैं। एलमली, चार्ल सव की ग्रैंडमिर और फ्लाएड की सास 
है। हेलेि, बॉब की पुत्री है, जो जॉजव का भाई है। 
डायिा, जॉजव की इकलौती सांताि और चार्ल सव की 
माता है। एमा, बॉब की पत् िी है।  
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16. जॉजव, हेलेि स ेककस प्रकार सांबांधधत है? 
A. अांकल  B. वपता 
C. भाई   D. कक्जि 
E. इिमें से कोई िहीां 
 
17. हेलेि, डायिा स ेककस प्रकार सांबांधधत है? 
A. बहि   B. पुत्री 
C. कक्जि  D. माता 
E. वपता 
 
18. डायिा की माता कौि है? 
A. एमा   B. एलमली 
C. हेलेि   D. फ्लाएड 
E. इिमें से कोई िहीां 
 
19. फ्लाएड का वपता कौि है? 
A. जॉजव   B. बॉब 
C. चार्ल सव  D. इिमें से कोई िहीां 
E. जािकारी अपयावप्त है 
 
20. चार्ल सव के वपता, जॉजव की पुत्री से ककस प्रकार 
सांबांधधत हैं? 
A. पुत्र   B. अांकल 
C. पनत   D. फािर-इि-लॉ 
E. वपता 
 
नििेश (21 – 25) : निम्ि जािकारी का ध्यािपूर्वक 
अध्ययि करें और िीचे दिए गए प्रश्िों के उत्तर िें| 
िो समूह, क्जसमे से प्रत्येक में 4 व्यक्तत हैं, िो 
पांक्ततयों में बैठे हैं| O, P, Q और R पहले समूह में 
हैं और उिमें से सभी पांक्तत 1 में उत्तर की ओरे मुांह 
करके बैठे हैं, जबकक S, T, U और V िसूरे समूह 
में हैं और उिमे से सभी पांक्तत 2 में िक्षिण की ओरे 
मुांह करके बैठे हैं| प्रत्येक समूह में एक छात्र, एक 
डॉतटर एक लशिक और एक अलभिेता है। लेककि 
जरूरी िहीां कक ये इसी क्रम में हों| S डॉतटर के 
सामिे बैठा है, लेककि िुि एक डॉतटर िहीां है। िोिों 
पांक्ततयों के लशिक चरम छोर पर बैठे हैं। T एक 

अलभिेता है और छात्र के सामिे बैठा है। R क्जस 
व्यक्तत के सामिे बैठा है, र्ह T के बाएां स ेतीसरे 
स्थाि पर है| O, R के बाएां से तीसरे स्थाि पर है| 
V और U एक िसूरे के पडोसी हैं और V लशिक के 
सामिे िहीां बैठा है| S के बाईं ओर कम स ेकम िो 
व्यक्तत हैं, लेककि र्ह P के सामिे िहीां बैठा है|  
 
21. निम्िललखित में से कौि P के सामिे बैठा है? 
A. T   B. S 
C. V   D. U 
E. C. और D. िोिों 
22. निम्िललखित युग्मों में स ेकौि सा युग्म छात्रों 
का है? 
A. QT   B. VP 
C. OS   D. SP 
E. RS 
 
23. पांक्तत 2 में डॉतटर और S के बीच ककतिे 
व्यक्तत बैठे हैं? 
A. एक   B. कोई िहीां 
C. िो   D. तीि 
E. दिए गए वर्कर्लपों से अन्य 
 
24. निम्िललखित पााँच में से चार बैठि े की एक 
निक्श्चत व्यर्स्था के आधार पर बैठे हैं, और इसललए 
एक समूह के रूप में हैं। निम्ि में स ेकौि इस समूह 
का सिस्य िहीां है? 
A. O   B. S 
C. V   D. P 
E. Q 
 
25. निम्िललखित में से कौि सा लमलाि सही है? 
A. Q – अलभिेता  B. P - लशिक 
C. V – लशिक  D. Q - डॉतटर 
E. O – लशिक 
 
नििेश (26 – 30) : िीचे िी गई जािकारी का 
ध् यािपूर्वक अध् ययि करें तथा इसके आधार पर प्रश् िों 
के उत् तर िें। 
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26. उपरोतत व्यर्स्था में ऐसे ककतिे व्यांजि हैं, 
क्जिमें से प्रत्येक तुरांत एक व्यांजि के बाि तथा 
तुरांत एक सांख्या स ेपहले आता है? 
A. कोई िहीां  B. एक 
C. िो   D. तीि 
E. तीि से अधधक 
 
27. उपरोतत व्यर्स्था में ककतिे ऐसे िांबर हैं, क्जिमें 
से प्रत्येक को तुरांत एक पत्र स ेपहले ककया जाता है, 
लेककि तुरांत एक प्रतीक के बाि िहीां? 
A. कोई िहीां  B. एक 
C. िो   D. तीि 
E. तीि से अधधक 
 
28. उपरोतत व्यर्स्था में ऐसे ककतिे स्र्र हैं, क्जिमें 
से प्रत्येक के तुरांत बाि एक प्रतीक आता है? 
A. कोई िहीां  B. एक 
C. िो   D. तीि 
E. तीि से अधधक 
 
29. उपरोतत व्यर्स्था में ऐसे ककतिे प्रतीक हैं, 
क्जिमें से प्रत्येक तुरांत एक सांख्या स े पहले तथा 
तुरांत एक सांख्या के बाि आता है? 
A. 0   B. 1 
C. 2   D. 3 
E. इिमें से कोई िहीां 
 
30. निम्ि में से कौि िाएां छोर से पाांचर्ें के बायीां 
ओर के िसर्ें स्थाि पर है? 
A. %   B. 8 
C. 2   D. 9 
E. इिमें से कोई िहीां 
 
31. निम् ि में से कौि सबसे बडा व् यक्तत है? 
A. M   B. N 
C. P   D. Q 

E. T 
 
32. निम् ि में से कौि R की बाईं ओर से िसूरे 
स् थाि पर बैठा है? 
A. O   B. S 
C. Q   D. P 
E. T 
 
33. निम् ि में से कौि सा सांयोजि सही है? 
A. P-माचव  B. T-मई 
C. O-जुलाई  D. M-फरर्री 
E. S-जुलाई 
 
34. निम् ि में से कौि सा व् यक्तत समूह से सांबांधधत 
िहीां है? 
A. N   B. S 
C. R   D. Q 
E. O 
 
35. 7. निम् ि में से कौि P से बडा िहीां है? 
A. T   B. O 
C. S   D. M 
E. N 
 
36. जॉजव, हेलेि स ेककस प्रकार सांबांधधत है? 
A. अांकल  B. वपता 
C. भाई   D. कक्जि 
E. इिमें स ेकोई िहीां 
 
37. हेलेि, डायिा स ेककस प्रकार सांबांधधत है? 
A. बहि   B. पुत्री 
C. कक्जि  D. माता 
E. वपता 
 
38. डायिा की माता कौि है? 
A. एमा   B. एलमली 
C. हेलेि   D. फ्लाएड 
E. इिमें स ेकोई िहीां 
 

www.byjusexamprep.com

http://www.gradeup.com/


 
 
 

 
6 

 

39. फ्लाएड का वपता कौि है? 
A. जॉजव   B. बॉब 
C. चार्ल सव  D. इिमें से कोई िहीां 
E. जािकारी अपयावप्त है 
 
40. चार्ल सव के वपता, जॉजव की पुत्री से ककस प्रकार 
सांबांधधत हैं? 
A. पुत्र   B. अांकल 
C. पनत   D. फािर-इि-लॉ 
E. वपता 
 
41. निम्िललखित में से कौि P के सामिे बैठा है? 
A. T   B. S 
C. V   D. U 
E. C. और D. िोिों 
 
42. निम्िललखित युग्मों में स ेकौि सा युग्म छात्रों 
का है? 
A. QT   B. VP 
C. OS   D. SP 
E. RS 
 
43. पांक्तत 2 में डॉतटर और S के बीच ककतिे 
व्यक्तत बैठे हैं? 
A. एक   B. कोई िहीां 
C. िो   D. तीि 
E. दिए गए वर्कर्लपों से अन्य 
 
44. निम्िललखित पााँच में से चार बैठि े की एक 
निक्श्चत व्यर्स्था के आधार पर बैठे हैं, और इसललए 
एक समूह के रूप में हैं। निम्ि में स ेकौि इस समूह 
का सिस्य िहीां है? 
A. O   B. S 
C. V   D. P 
E. Q 
 
45. निम्िललखित में से कौि सा लमलाि सही है? 

A. Q – अलभिेता  B. P - लशिक 
C. V – लशिक  D. Q - डॉतटर 
E. O – लशिक 
 
46. उपरोतत व्यर्स्था में ऐसे ककतिे व्यांजि हैं, 
क्जिमें स े प्रत्येक तुरांत एक व्यांजि के बाि तथा 
तुरांत एक सांख्या से पहले आता है? 
A. कोई िहीां  B. एक 
C. िो   D. तीि 
E. तीि से अधधक 
 
47. उपरोतत व्यर्स्था में ककतिे ऐसे िांबर हैं, क्जिमें 
से प्रत्येक को तुरांत एक पत्र स ेपहले ककया जाता है, 
लेककि तुरांत एक प्रतीक के बाि िहीां? 
A. कोई िहीां  B. एक 
C. िो   D. तीि 
E. तीि से अधधक 
 
48. उपरोतत व्यर्स्था में ऐसे ककतिे स्र्र हैं, क्जिमें 
से प्रत्येक के तुरांत बाि एक प्रतीक आता है? 
A. कोई िहीां  B. एक 
C. िो   D. तीि 
E. तीि से अधधक 
 
49. उपरोतत व्यर्स्था में ऐसे ककतिे प्रतीक हैं, 
क्जिमें से प्रत्येक तुरांत एक सांख्या से पहले तथा 
तुरांत एक सांख्या के बाि आता है? 
A. 0   B. 1 
C. 2   D. 3 
E. इिमें स ेकोई िहीां 
 
50. निम्ि में से कौि िाएां छोर स ेपाांचर्ें के बायीां 
ओर के िसर्ें स्थाि पर है? 
A. %   B. 8 
C. 2   D. 9 
E. इिमें स ेकोई िहीां 
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ANSWER 
 

1. Ans. A.  

T faces D 

 
2. Ans. B.  

T & A represent the persons sitting at 

extreme ends of the rows 

 
3. Ans. B.  

A Q is the one that does not belong to that 

group 

 
4. Ans. B.  

S is the one that does not belong to that 

group. 

 
5. Ans. C.  

Three persons are seated between R and 

T 

 
6. Ans. B.  

Vidya is Niece of Anushka 

 

7. Ans. C.  

Ram is Grandson of Mr. Tomar 

 
8. Ans. C.  

Anushka is Sister in law of Rajni 

 
9. Ans. C.  

C + D => C is daughter of D 

D – E => D is wife of E 

E × F => E is son of F 

Thus, C is the granddaughter of F 

10. Ans. B.  

K ÷ L =>K is the brother of L 

L + P =>L is the daughter of R 

R – P =>R is the wife of P 

Thus P is the father of K and L 

Hence K ÷ L + R – P is correct. 

11. Ans. A.  

M is the eldest person. 

Details Solution: 

Q was born in a month which has 30 days 

and facing the centre. So Q was either 

born in April or June. 

● The one who is 3rd to the right of Q is 2 

months elder to Q. So that person either 

born in February or April. 

 
● Only one person is elder to N. So N was 

born in Feb. 

Take case 1: 

● S is 2nd to the left of N. 

● P is one month elder to Q. So P was 

born in March. The number of person is 
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elder to T is same as younger to P. 5 

persons are younger to P so T must born 

in June. 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● R is the youngest person and neighbor 

of T. R was born in August. 

● O is 3rd to the left of R. 

● P is facing outside. All the position of in 

the middle is occupied so this case gets 

rejected. 

 
Take case 2: 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● P is one month elder to Q. So P was 

born in May. The number of person is 

elder to T is same as younger to P. 3 

persons are younger to P so T must born 

in April. 

● As we know that N was born in Feb. S 

is 2nd to the left of N. 

● R is the youngest person and neighbor 

of T. R was born in August. 

 
● O is 3rd to the left of R. 

● The one who was born in January is 2nd 

to the left of O. 

● P is facing outside as P was born in May 

so P was exactly between N and S. 

● So M was born in Jan. 

● S is elder to O so S was born in March 

and O was born in July. 

Here is the final arrangement: 

 
12. Ans. C.  

Q is 2nd to the left of R. 

Details Solution: 

Q was born in a month which has 30 days 

and facing the centre. So Q was either 

born in April or June. 

● The one who is 3rd to the right of Q is 2 

months elder to Q. So that person either 

born in February or April. 

 
● Only one person is elder to N. So N was 

born in Feb. 

Take case 1: 

● S is 2nd to the left of N. 

● P is one month elder to Q. So P was 

born in March. The number of person is 

elder to T is same as younger to P. 5 

persons are younger to P so T must born 

in June. 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● R is the youngest person and neighbor 

of T. R was born in August. 

● O is 3rd to the left of R. 

● P is facing outside. All the position of in 

the middle is occupied so this case gets 

rejected. 
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Take case 2: 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● P is one month elder to Q. So P was 

born in May. The number of person is 

elder to T is same as younger to P. 3 

persons are younger to P so T must born 

in April. 

● As we know that N was born in Feb. S 

is 2nd to the left of N. 

● R is the youngest person and neighbor 

of T. R was born in August. 

 
● O is 3rd to the left of R. 

● The one who was born in January is 2nd 

to the left of O. 

● P is facing outside as P was born in May 

so P was exactly between N and S. 

● So M was born in Jan. 

● S is elder to O so S was born in March 

and O was born in July. 

Here is the final arrangement: 

 
13. Ans. C.  

O was born in July. 

Details Solution: 

Q was born in a month which has 30 days 

and facing the centre. So Q was either 

born in April or June. 

● The one who is 3rd to the right of Q is 2 

months elder to Q. So that person either 

born in February or April. 

 
● Only one person is elder to N. So N was 

born in Feb. 

Take case 1: 

● S is 2nd to the left of N. 

● P is one month elder to Q. So P was 

born in March. The number of person is 

elder to T is same as younger to P. 5 

persons are younger to P so T must born 

in June. 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● R is the youngest person and neighbor 

of T. R was born in August. 

● O is 3rd to the left of R. 

● P is facing outside. All the position of in 

the middle is occupied so this case gets 

rejected. 

 
Take case 2: 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● P is one month elder to Q. So P was 

born in May. The number of person is 

elder to T is same as younger to P. 3 

persons are younger to P so T must born 

in April. 

● As we know that N was born in Feb. S 

is 2nd to the left of N. 
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● R is the youngest person and neighbor 

of T. R was born in August. 

 
● O is 3rd to the left of R. 

● The one who was born in January is 2nd 

to the left of O. 

● P is facing outside as P was born in May 

so P was exactly between N and S. 

● So M was born in Jan. 

● S is elder to O so S was born in March 

and O was born in July. 

Here is the final arrangement: 

 
14. Ans. E.  

All the persons are facing the centre 

except O. 

Details Solution: 

Q was born in a month which has 30 days 

and facing the centre. So Q was either 

born in April or June. 

● The one who is 3rd to the right of Q is 2 

months elder to Q. So that person either 

born in February or April. 

 
● Only one person is elder to N. So N was 

born in Feb. 

Take case 1: 

● S is 2nd to the left of N. 

● P is one month elder to Q. So P was 

born in March. The number of person is 

elder to T is same as younger to P. 5 

persons are younger to P so T must born 

in June. 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● R is the youngest person and neighbor 

of T. R was born in August. 

● O is 3rd to the left of R. 

● P is facing outside. All the position of in 

the middle is occupied so this case gets 

rejected. 

 
Take case 2: 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● P is one month elder to Q. So P was 

born in May. The number of person is 

elder to T is same as younger to P. 3 

persons are younger to P so T must born 

in April. 

● As we know that N was born in Feb. S 

is 2nd to the left of N. 

● R is the youngest person and neighbor 

of T. R was born in August. 
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● O is 3rd to the left of R. 

● The one who was born in January is 2nd 

to the left of O. 

● P is facing outside as P was born in May 

so P was exactly between N and S. 

● So M was born in Jan. 

● S is elder to O so S was born in March 

and O was born in July. 

Here is the final arrangement: 

 
15. Ans. B.  

O is younger to P. 

Details Solution: 

Q was born in a month which has 30 days 

and facing the centre. So Q was either 

born in April or June. 

● The one who is 3rd to the right of Q is 2 

months elder to Q. So that person either 

born in February or April. 

 
● Only one person is elder to N. So N was 

born in Feb. 

Take case 1: 

● S is 2nd to the left of N. 

● P is one month elder to Q. So P was 

born in March. The number of person is 

elder to T is same as younger to P. 5 

persons are younger to P so T must born 

in June. 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● R is the youngest person and neighbor 

of T. R was born in August. 

● O is 3rd to the left of R. 

● P is facing outside. All the position of in 

the middle is occupied so this case gets 

rejected. 

 
Take case 2: 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● P is one month elder to Q. So P was 

born in May. The number of person is 

elder to T is same as younger to P. 3 

persons are younger to P so T must born 

in April. 

● As we know that N was born in Feb. S 

is 2nd to the left of N. 

● R is the youngest person and neighbor 

of T. R was born in August. 

 
● O is 3rd to the left of R. 

● The one who was born in January is 2nd 

to the left of O. 

● P is facing outside as P was born in May 

so P was exactly between N and S. 

● So M was born in Jan. 

● S is elder to O so S was born in March 

and O was born in July. 

Here is the final arrangement: 
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16. Ans. A.  

George is the uncle of Helen 

Solution: 

 

 
(Final Arrangement) 

 
17. Ans. C.  

Helen is the cousin of Diana 

Solution: 

  
(Final Arrangement) 

 
18. Ans. B.  

Amelie is Diana’s Mother 

Solution: 

  
(Final Arrangement) 

 
19. Ans. E.  

Data Insufficient 

Solution: 

  
(Final Arrangement) 

 
20. Ans. C.  

Husband 

www.byjusexamprep.com

http://www.gradeup.com/


 
 
 

 
13 

 

Solution: 

  
(Final Arrangement) 

 
21. Ans. C.  

• S is facing doctor but himself is not a 

Doctor. 

• Teacher of both the rows are at extreme 

ends. 

• T is a actor and facing student. 

• R is facing the person who is third to the 

left of T. 

• O is third to the left of R. 

• V and U are neighbours and V is not 

facing teacher. 

• S has at least two people to his left but 

not facing P. 

 
22. Ans. C.  

• S is facing doctor but himself is not a 

Doctor. 

• Teacher of both the rows are at extreme 

ends. 

• T is a actor and facing student. 

• R is facing the person who is third to the 

left of T. 

• O is third to the left of R. 

• V and U are neighbours and V is not 

facing teacher. 

• S has at least two people to his left but 

not facing P. 

 

 
23. Ans. B.  

• S is facing doctor but himself is not a 

Doctor. 

• Teacher of both the rows are at extreme 

ends. 

• T is a actor and facing student. 

• R is facing the person who is third to the 

left of T. 

• O is third to the left of R. 

• V and U are neighbours and V is not 

facing teacher. 

• S has at least two people to his left but 

not facing P. 

 
24. Ans. A.  

• S is facing doctor but himself is not a 

Doctor. 

• Teacher of both the rows are at extreme 

ends. 

• T is a actor and facing student. 

• R is facing the person who is third to the 

left of T. 

• O is third to the left of R. 

• V and U are neighbours and V is not 

facing teacher. 

• S has at least two people to his left but 

not facing P. 

 
25. Ans. D.  

• S is facing doctor but himself is not a 

Doctor. 

• Teacher of both the rows are at extreme 

ends. 

• T is a actor and facing student. 

• R is facing the person who is third to the 

left of T. 

• O is third to the left of R. 

• V and U are neighbours and V is not 

facing teacher. 

• S has at least two people to his left but 

not facing P. 

 
26. Ans. B.  

There are 1 such combination – MW4 

27. Ans. E.  

There are 4 such combinations – E5D, 

Q79, U1M, J8N 

28. Ans. A.  

There is no such combination. 
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29. Ans. A.  

There is no such combination 

30. Ans. D.  

Given Arrangement -  

R E 5 D A P $ 3 T I Q 7 9 B # 2 K % U 1 

M W 4 & J 8 N 

TENTH to the left of the FIFTH from the 

right end means - 10 + 5 = 15th element 

from right end which is 9 

31. Ans. A.  

M is the eldest person. 

Details Solution: 

Q was born in a month which has 30 days 

and facing the centre. So Q was either 

born in April or June. 

● The one who is 3rd to the right of Q is 2 

months elder to Q. So that person either 

born in February or April. 

 
● Only one person is elder to N. So N was 

born in Feb. 

Take case 1: 

● S is 2nd to the left of N. 

● P is one month elder to Q. So P was 

born in March. The number of person is 

elder to T is same as younger to P. 5 

persons are younger to P so T must born 

in June. 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● R is the youngest person and neighbor 

of T. R was born in August. 

● O is 3rd to the left of R. 

● P is facing outside. All the position of in 

the middle is occupied so this case gets 

rejected. 

 

Take case 2: 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● P is one month elder to Q. So P was 

born in May. The number of person is 

elder to T is same as younger to P. 3 

persons are younger to P so T must born 

in April. 

● As we know that N was born in Feb. S 

is 2nd to the left of N. 

● R is the youngest person and neighbor 

of T. R was born in August. 

 
● O is 3rd to the left of R. 

● The one who was born in January is 2nd 

to the left of O. 

● P is facing outside as P was born in May 

so P was exactly between N and S. 

● So M was born in Jan. 

● S is elder to O so S was born in March 

and O was born in July. 

Here is the final arrangement: 

 
32. Ans. C.  

Q is 2nd to the left of R. 

Details Solution: 

Q was born in a month which has 30 days 

and facing the centre. So Q was either 

born in April or June. 

● The one who is 3rd to the right of Q is 2 

months elder to Q. So that person either 

born in February or April. 
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● Only one person is elder to N. So N was 

born in Feb. 

Take case 1: 

● S is 2nd to the left of N. 

● P is one month elder to Q. So P was 

born in March. The number of person is 

elder to T is same as younger to P. 5 

persons are younger to P so T must born 

in June. 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● R is the youngest person and neighbor 

of T. R was born in August. 

● O is 3rd to the left of R. 

● P is facing outside. All the position of in 

the middle is occupied so this case gets 

rejected. 

 
Take case 2: 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● P is one month elder to Q. So P was 

born in May. The number of person is 

elder to T is same as younger to P. 3 

persons are younger to P so T must born 

in April. 

● As we know that N was born in Feb. S 

is 2nd to the left of N. 

● R is the youngest person and neighbor 

of T. R was born in August. 

 

● O is 3rd to the left of R. 

● The one who was born in January is 2nd 

to the left of O. 

● P is facing outside as P was born in May 

so P was exactly between N and S. 

● So M was born in Jan. 

● S is elder to O so S was born in March 

and O was born in July. 

Here is the final arrangement: 

 
33. Ans. C.  

O was born in July. 

Details Solution: 

Q was born in a month which has 30 days 

and facing the centre. So Q was either 

born in April or June. 

● The one who is 3rd to the right of Q is 2 

months elder to Q. So that person either 

born in February or April. 

 
● Only one person is elder to N. So N was 

born in Feb. 

Take case 1: 

● S is 2nd to the left of N. 

● P is one month elder to Q. So P was 

born in March. The number of person is 

elder to T is same as younger to P. 5 

persons are younger to P so T must born 

in June. 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● R is the youngest person and neighbor 

of T. R was born in August. 

● O is 3rd to the left of R. 
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● P is facing outside. All the position of in 

the middle is occupied so this case gets 

rejected. 

 
Take case 2: 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● P is one month elder to Q. So P was 

born in May. The number of person is 

elder to T is same as younger to P. 3 

persons are younger to P so T must born 

in April. 

● As we know that N was born in Feb. S 

is 2nd to the left of N. 

● R is the youngest person and neighbor 

of T. R was born in August. 

 
● O is 3rd to the left of R. 

● The one who was born in January is 2nd 

to the left of O. 

● P is facing outside as P was born in May 

so P was exactly between N and S. 

● So M was born in Jan. 

● S is elder to O so S was born in March 

and O was born in July. 

Here is the final arrangement: 

 

34. Ans. E.  

All the persons are facing the centre 

except O. 

Details Solution: 

Q was born in a month which has 30 days 

and facing the centre. So Q was either 

born in April or June. 

● The one who is 3rd to the right of Q is 2 

months elder to Q. So that person either 

born in February or April. 

 
● Only one person is elder to N. So N was 

born in Feb. 

Take case 1: 

● S is 2nd to the left of N. 

● P is one month elder to Q. So P was 

born in March. The number of person is 

elder to T is same as younger to P. 5 

persons are younger to P so T must born 

in June. 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● R is the youngest person and neighbor 

of T. R was born in August. 

● O is 3rd to the left of R. 

● P is facing outside. All the position of in 

the middle is occupied so this case gets 

rejected. 

 
Take case 2: 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● P is one month elder to Q. So P was 

born in May. The number of person is 

elder to T is same as younger to P. 3 
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persons are younger to P so T must born 

in April. 

● As we know that N was born in Feb. S 

is 2nd to the left of N. 

● R is the youngest person and neighbor 

of T. R was born in August. 

 
● O is 3rd to the left of R. 

● The one who was born in January is 2nd 

to the left of O. 

● P is facing outside as P was born in May 

so P was exactly between N and S. 

● So M was born in Jan. 

● S is elder to O so S was born in March 

and O was born in July. 

Here is the final arrangement: 

 
35. Ans. B.  

O is younger to P. 

Details Solution: 

Q was born in a month which has 30 days 

and facing the centre. So Q was either 

born in April or June. 

● The one who is 3rd to the right of Q is 2 

months elder to Q. So that person either 

born in February or April. 

 
● Only one person is elder to N. So N was 

born in Feb. 

Take case 1: 

● S is 2nd to the left of N. 

● P is one month elder to Q. So P was 

born in March. The number of person is 

elder to T is same as younger to P. 5 

persons are younger to P so T must born 

in June. 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● R is the youngest person and neighbor 

of T. R was born in August. 

● O is 3rd to the left of R. 

● P is facing outside. All the position of in 

the middle is occupied so this case gets 

rejected. 

 
Take case 2: 

● The one who was born in June is 2nd to 

the right of the one who was born in 

February. 

● P is one month elder to Q. So P was 

born in May. The number of person is 

elder to T is same as younger to P. 3 

persons are younger to P so T must born 

in April. 

● As we know that N was born in Feb. S 

is 2nd to the left of N. 

● R is the youngest person and neighbor 

of T. R was born in August. 

 
● O is 3rd to the left of R. 

● The one who was born in January is 2nd 

to the left of O. 

● P is facing outside as P was born in May 

so P was exactly between N and S. 

● So M was born in Jan. 
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● S is elder to O so S was born in March 

and O was born in July. 

Here is the final arrangement: 

 
36. Ans. A.  

George is the uncle of Helen 

Solution: 

  
(Final Arrangement) 

 
37. Ans. C.  

Helen is the cousin of Diana 

Solution: 

  

(Final Arrangement) 

 
38. Ans. B.  

Amelie is Diana’s Mother 

Solution: 

  
(Final Arrangement) 

 
39. Ans. E.  

Data Insufficient 

Solution: 
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(Final Arrangement) 

 
40. Ans. C.  

Husband 

Solution: 

  
(Final Arrangement) 

 
41. Ans. C.  

• S is facing doctor but himself is not a 

Doctor. 

• Teacher of both the rows are at extreme 

ends. 

• T is a actor and facing student. 

• R is facing the person who is third to the 

left of T. 

• O is third to the left of R. 

• V and U are neighbours and V is not 

facing teacher. 

• S has at least two people to his left but 

not facing P. 

 
42. Ans. C.  

• S is facing doctor but himself is not a 

Doctor. 

• Teacher of both the rows are at extreme 

ends. 

• T is a actor and facing student. 

• R is facing the person who is third to the 

left of T. 

• O is third to the left of R. 

• V and U are neighbours and V is not 

facing teacher. 

• S has at least two people to his left but 

not facing P. 

 
43. Ans. B.  

• S is facing doctor but himself is not a 

Doctor. 

• Teacher of both the rows are at extreme 

ends. 

• T is a actor and facing student. 

• R is facing the person who is third to the 

left of T. 

• O is third to the left of R. 

• V and U are neighbours and V is not 

facing teacher. 

• S has at least two people to his left but 

not facing P. 

 
44. Ans. A.  

• S is facing doctor but himself is not a 

Doctor. 

• Teacher of both the rows are at extreme 

ends. 

• T is a actor and facing student. 

• R is facing the person who is third to the 

left of T. 

• O is third to the left of R. 

• V and U are neighbours and V is not 

facing teacher. 

• S has at least two people to his left but 

not facing P. 

 
45. Ans. D.  

• S is facing doctor but himself is not a 

Doctor. 

• Teacher of both the rows are at extreme 

ends. 

• T is a actor and facing student. 

• R is facing the person who is third to the 

left of T. 

• O is third to the left of R. 
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• V and U are neighbours and V is not 

facing teacher. 

• S has at least two people to his left but 

not facing P. 

 
46. Ans. B.  

There are 1 such combination – MW4 

47. Ans. E.  

There are 4 such combinations – E5D, 

Q79, U1M, J8N 

48. Ans. A.  

There is no such combination. 

49. Ans. A.  

There is no such combination 

50. Ans. D.  

Given Arrangement -  

R E 5 D A P $ 3 T I Q 7 9 B # 2 K % U 1 

M W 4 & J 8 N 

TENTH to the left of the FIFTH from the 

right end means - 10 + 5 = 15th element 

from right end which is 9 
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